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1. FREIER

/% AR AT AR S B L U R
value HHMIE, new value A 4HIKAHAL
JEPREFIR A RIS */

#define A 10

char value;

char filter ()
{

char new value;

new value = get ad();

if ( ( new value - value> A ) || ( value - new _value> A )
return value;

return new value;
}

2+ HRIAEDER:

/% N AR AT AR S B 0 1 4
HEP K B ik~

#define N 11

char filter ()
{

char value buf[N];

char count,i,j,temp;

for ( count=0;count<N;count++)

{
value buf[count] = get ad();
delay();

}

for (3=0;3<N-1;3j++)

{

for (i=0;i<N-7j;i++)



if ( value buf>value buf[i+l] )
{
temp = value buf;
value buf = value buf[i+l];
value buf[i+l] = temp;

}
return value buf[(N-1)/2];
}

3. AR uEBEE
/*
*/

#define N 12

char filter ()
{
int sum = 0;
for ( count=0;count<N;count++)
{
sum + = get ad();
delay();
}

return (char) (sum/N) ;

4. JRHETHINEEE (CURRIE B3B8
/*

*/

#define N 12

char value buf[N];
char 1=0;

char filter ()
{
char count;

int sum=0;

value buf[i++] = get ad();
if (1 == ) i = 0;
for ( count=0;count<N, count++)

sum = value buf [count];
return (char) (sum/N) ;

}

5. TR e R CGUFRBE kP30 3 3ER )
/*

*/

#define N 12

char filter ()

{
char count,i,j;
char value buf[N];



int sum=0;

for (count=0;count<N;count++)
{
value buf[count] = get ad();
delay () ;

}
for (3=0;j<N-1;3j++)
{
for (i=0;1i<N-j;i++)
{
if ( value buf>value buf[i+l] )
{
temp = value buf;
value buf = value buf[i+l];
value buf[i+l] = temp;

}

for (count=1;count<N-1;count++)
sum += value[count];

return (char) (sum/ (N-2));

}

6+ PRIE V35 pEP %
/*
*/
W 2% FFEF 1. 3

Ty B S
/% R INRRE e A B AR e B 100, a=0~100 */

#define a 50
char wvalue;

char filter ()
{
char new value;
new value = get ad();
return (100-a)*value + a*new value;

}

8 DAL HE~F- 1 e ik
/* coe BAUNIMBAREER, AR, */

#define N 12

char code coe[N] = {1,2,3,4,5,6,7,8,9,10,11,12};
char code sum coe = 1+2+3+4+5+6+7+8+9+10+11+12;

char filter ()

{
char count;
char value buf[N];
int sum=0;

for (count=0, count<N;count++)



value buf[count] = get ad();
delay();
}
for (count=0, count<N;count++)
sum += value buf[count]*coe[count];
return (char) (sum/sum_coe);

}
9. HEIIEWE
#define N 12

char filter ()
{
char count=0;
char new value;
new value = get ad();
while (value !=new value);

{

count++;

if (count>=N) return new value;
delay();

new value = get ad();

}
return value;

}

10+ PRSI FHERE
/*
*/
W ZH TR 1. 9

11. IIRJEWHHIT

int BandpassFilter4 (int InputAD4)
{
int ReturnValue;
int ii;
RESLO=0;
RESHI=0;
MACS=*PdellIn;
0OP2=1068; //FilterCoeff4[4];
MACS=* (PdelIn+l) ;
OP2=8; //FilterCoeff4[3];
MACS=* (PdelIn+2) ;
OP2=-2001;//FilterCoeff4[2];
MACS=* (PdelIn+3);
OP2=8; //FilterCoeff4[1];
MACS=InputAD4;
0P2=1068; //FilterCoeff4[0];
MACS=*PdelOu;
OP2=-7190;//FilterCoeff4d[8];
MACS=* (PdelOu+l) ;
OP2=-1973; //FilterCoeff4d[7];



MACS=* (PdelOu+2) ;
OP2=-19578;//FilterCoeff4[6];
MACS=* (PdelOu+3) ;

OP2=-3047; //FilterCoeff4([5];

*p=RESLO;

*(ptl)=RESHI;

mytestmul<<=2;

ReturnValue=* (p+1);

for (1i=0;1i<3;1ii++)

{
DelayInput[ii]=DelayInput[ii+1];
DelayOutput[ii]=DelayOutput[ii+1];
}

DelayInput[3]=InputAD4;
DelayOutput [3]=ReturnValue;

// if (ReturnValue<O)

/] A
// ReturnValue=-ReturnValue;
/)

return ReturnValue;



